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1) Oral Rehydration Therapy is recommended for patients suffering from

a) Typhoid  
b) Cholera 
c) Tetanus  
d) tuberculosis

Answer - B

2) Which one among the following metals is used for making boats because it does not corrode 
by seawater?

a) Tungsten  
b) Nickel 
c) Antimony  
d) Titanium

Answer - C

3) How many members of Lok Sabha peresent the union territories?

a) 10  
b) 20  
c) 35  
d) 35

Answer - B

4) How many District in Delhi?

a) 9  
b) 10  
c) 11  
d) 14

Answer - C

5) The reservoir Gobind Sagar is on which river in Punjab?

(a) Sutlej 
(b) Son 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(c) Tapti  
(d) Narmada

Answer - A

6) Which from the following is not Navaratna PSU?

a) SAIL 
b) LIC  
c) ONGH  
d) IOC

Answer - B

7) The area with annual rainfall less than 50 cm in a year is

a) Meghalaya  
b) Leh in Kashmir  
c) Coromandel  
d) Konkan coast

Answer - B

8) How much time is taken by light to reach earth from sun?

a) 5.5 minutes  
b) 6.8 minutes  
c) 7.5minutes  
d) 8.3 minutes

Answer - D

9) Who led the British forces to victory in the Battle of Bauxar?

a) Warren Hastings  
b) Robert Clive 
c) Carnae 
d) Hector Munro

Answer - D

10) Total number of National Park in Karnataka

a) 3  
b) 5  
c) 8  
d) 10

Answer - B

11) The fuel used in nuclear power plants is

a) U-235  
b) U-238 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c) U-236  
d) U-239

Answer - A

12) Which of the following is primary Industry in Goa ?

a)Pharma 
b)Liquor  
c)Tourism 
d)Textiles

Answer - C

13) In which year Haryana become a state?

a) 1963  
b) 1966  
c) 1964  
d) 1960

Answer - B

14) Which of the following numbers should be added to 11158 to make it exactly divisible by 
77 ?

a) 9  
b) 8  
c) 7  
d) 5

Answer - C

15) A 12% stock yielding 10% is quoted at:

a) Rs. 83.33  
b) Rs. 110 
c) Rs. 112 
d) Rs. 120

Answer - D

16) Rs. 120 are divided among A, B,C such that A’s share is Rs. 20 more than B’s and Rs.20 
less than C’s. What is B’s share

a) Rs 10  
b) Rs 20 
c) Rs 24  
d) Rs 28

Answer - B

17) The cost price of 18 articles is equal to the selling price of 15 articles. The gain is
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a) 25%  
b) 20%  
c) 18%  
d) 15%

Answer - B

18) Which of the following words can not be form from - "RECREATION"

a) RATION  
b) ACTION  
c) TORN  
d) REFER

Answer - D

19) Mahi ranked ninth from the top and thirty eighth from the bottom in a class. How many 
students are there in the class ?

a) 42  
b) 44  
c) 46  
d) 48

Answer - C

20) Kamlesh goes 50 m North, then turns right and walks 40 m, then again turns right and 
walks 20 m, then again turns right and walks 40 m. How many meters is he from his original 
position?

a) 0 
b) 10  
c) 40  
d) 30

Answer - D
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